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(R)EIIEH / (R)=2 Sk 150S( 8.%)/14: 25 |@ A 1:37.2 BOSH AL () | B 7EDS  1:37.0 5049 8 (2 |G TRYUBA 1:05 54046 A0 (8) |G TAMY  1:3.9 5.045 HE (5)
468 (3/2/9/5/5) /67,308 | =0 7&8( 0/ 0/ 2) @ 9 1:37.2 A58 8 (2) | @ 3MUSE  1:37.3 .05 S#& (3) |@ SMHKZ 1:40.0 042 8 (5) |@ 2LLHS 1:37.0 5.051 £8 (1)
EM:23F | 0,008 (OH) ZA R A(20X) ® BHIMAIS 1:37.3 54047 €21 (8) | @ 42BN  1:37.9 B.04H 40U (9 |® 1L22HH 1:40.2 .04 Ml (1) |® OILEF 1:37.0 6552 2 )
1k1:3573843437 0523 ® B6NIAIXZ 1:37.3 51.041 RLE (6) |@ SUEE 1:38.8 B0H IIY (1) | QA 1:40.7 HA046 S+ @) | © 6ZEHDHH 1:37.0 51.542 A (6)
Z10:1:34.9 (20113, 51.0, AT) %=X 63 892 () 19.7-50.1-17.6 / 3 47.1 - 40 63.6 | 20.1-51.0-18.4 / 30 46.9- 40 63.6 | 19.553.7-18.9 / 30 47.0 -4 65.0 | 20.0-50.0-17.4 /  46.9 - 4C 63.8
T 1:37.5 168(0/ 0/ 3) 500553(3/10) 2 0 =10 612 70066 3(5/10) 2 4 SR.30= 40034 4(7/10) 262 =7.5 6= 900995(3/10) 24 4 =2.6 B=
Z|253| +S43 8 ERA =20 =20 =20 =20
Zlo|& SE 558 1110m 58 1110m 2| 17| 5
D 2 MFA7| 60 8 &HChRA 25.0% 8 & A 50.0% 2 HFERZA7| 66.7% 7 Eret=o) 1:340
A 7 gat=o 60 2 HF247| 222% 4 QELEHY 37.5% 3 YElnte 16.7% 9 It E 1:348
T 97tes 60 4 L2LEHS 18:8% 2 HF227| 333% - 1028 1349
A 3UEmE 54 3 WEIo= 12.5% 6 23 26.7% - 4 QBtERQE 1:358
4 QetEfQS 51 9 FrtoE 125% 3 HEImE 25.0% - 5 AHErO| A 1:35.8
HZ 1 A3 22 e7MY M2 X8 200m 7| 5621 H) Z4t 200m 7| 5 (621E ) HEX|
T RIS 49, 5E4 Tk 4 QEtEfQF 37.5440t 8 &ICHfA 171 2 MFR47| 175 9 YIteE 105
| 5 AMCHD| A 423440k 2 Fe77| 29,6843t 1 CHEe 18.1 3 HEImE 17.7 7 etk of 103
P 7 Et2t=o] 40484k 6 230 20,6443 7 Eretk=o) 185 1 CHeet 177 102842 103
S 4 QEtEfQF 37.5840t 5 AHEhO| A 164443t 6 2=l 187 4 Q2tEfet 178 5 AEhO| A 100
2 HF=e27| 29,6843k 10282 14,7948k 9 g7toE 189 5 AHErO| A 17.9 4 Qatefet 94
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